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* 13+ =

A R o .

W E REREFLOEAFAGE

AT RAR )

z E % = E B
i + &3 7 + &3

1B F B(* K 563 555 1118 578 542 1120

s /ERT (89.88) (94.05) (91.95) (92.04) (96.31) (94.11)
g &by’ 6.592 * 9.190 **

#* % 2F (LK) 562 557 1119 578 542 1120
5=/ ERT (86.65) (91.56) (89.10) (90.14) (92.80) (91.43)
LU 6.935 ** 2.537

RS E-E JE S TEE ) 562 556 1118 578 542 1120
N NN LY (73.67) (80.04) (76.83) (75.09) (80.44) (77.68)
R 6.372 * 4.628 *

B g4 % (4 ¥K) 563 557 1120 578 542 1120
S N NN LY (20.96) (25.49) (23.21) (12.98) (20.11) (16.43)
g Lot gy’ 3.230 10.371 **

k@ kL (4 ) 561 554 1115 577 542 1119
F =g/ E g (74.87) (81.41) (78.12) (88.91) (94.46) (91.60)
g Loty 6.978 ** 11.215 ***

pE=h ] 7 (4 ) 561 555 1116 578 542 1120
S N NN LY (74.51) (78.56) (76.52) (78.55) (87.64) (82.95)
§ Lot gy’ 2.546 16.345 *x

5 & (4 &) 563 557 1120 578 542 1120
S N NNy (88.45) (89.77)  (89.11) (92.04) (95.20) (93.57)
LR 0.497 4.648 *

EE KR (A K 562 557 1119 578 542 1120
N NNy (71.17) (77.92) (74.53) (84.26) (93.17) (88.57)
R 6.701 ** 21.973 ***

the B k(X #K) 563 555 1118 578 542 1120
i/ EG (82.42) (81.98) (82.20) (90.48) (88.93) (89.73)
NS O 0.036 0.734

(4 &) 563 557 1120 578 542 1120
Gy /E g (61.81) (59.96) (60.89) (77.16) (63.10) (70.36)
HEES O 0.401 26.524 **#

31 1:P<0.05 » **:P<0.01 » ***:P<0.001 -



22FABRLZ 2 ERE I T REBEFLOELFATE

377 BAR)

~

z E % = E %
3 - &3t 3 - &3t

H (L i) 563 557 1120 576 542 1118
¥ 7 (67.14) (58.71) (62.95) (83.33) (81.92) (82.65)
HEN O 8.537 ** 0.390

TR S ) 563 557 1120 577 542 1119
¥ 7 (58.61) (54.04) (56.34) (74.70) (72.32) (73.55)
HEN O 2.383 0.808

i 8 (LK) 563 557 1120 578 542 1120
. (50.09) (42.37) (4625) (62.98) (56.27) (59.73)
RS 6.711 % 5.205 *

X EICE ) 563 556 1119 578 542 1120
. (72.47) (75.72) (74.08)  (84.60) (88.38) (86.43)
RS 1.539 3397

w8 (4 K 563 556 1119 578 542 1120
¥ 7 (70.87) (66.37) (68.63) (89.97) (90.04) (90.00)
RIS 2.635 0.002

AR (4 &) 561 555 1116 578 542 1120
¥ 7 (42.25) (39.10) (40.68)  (50.35) (50.92) (50.63)
RS 1.145 0.037

"R FALIES | (L 3K 561 554 1115 576 539 1115
¥ 7 (47.42) (21.48) (34.53) (65.63) (34.69) (50.67)
g vt iy 82.936 *** 106.578 ***

B RARALED /) (L ) 560 557 1117 578 542 1120
¥ 7 (66.25) (53.86) (60.07) (77.51) (77.49) (77.50)
g Loty 17.873 *** 0.000

§ (L &) 562 557 1119 578 542 1120
g 7 (46.80) (36.80) (41.82) (74.39) (63.84) (69.29)
R O 11.481 *** 14.648 *#*

BT (L &) 561 557 1118 578 542 1120
¥ 7 (23.17) (13.64) (18.43) (35.12) (26.01) (30.71)
g vt iy 16.883 *** 10.900 **

31 1:P<0.05 » **:P<0.01 » ***:P<0.001 -



* 3FATHERR] =

N EBE T2 BETREFLORE A FA

|

e
N

B *E &
7 * 7 *

(A ¥&K) 563 557 578 541
g7 (64.48) (56.37) (74.22) (73.20)
RN 7.688 ** 0.151

A () 563 557 578 542
g7 (42.63) (32.14) (52.77) (51.66)
NS O 13.164 *** 0.138

UASAGE ) 562 557 577 542
g7 (7.47)  (3.59) (4.85)  (1.11)
RS O 8.058 ** 13.309 *++

AR D P (A ) 563 555 578 542
%7 (6.57) (3.24) (13.67)  (5.72)
RS 6.621 * 19.952 *#x

+ R IEH(X ) 562 557 578 542
g7 (8.54) (5.57) (6.40)  (5.54)
g Ll y? 3.774 0.373

(L &) 560 552 577 541
%7 (7.50)  (3.62) 6.07) (2.77)
g bty 7.936 ** 7.088 **

HE (A &) 561 557 578 542
%7 (12.66) (3.59) (13.67)  (8.12)
g ot gy 30.719 ##* 8.812 **

?hiF A #) 561 557 576 541
%7 (34.58) (20.11) (34.38) (24.40)
gLty 29.453 *** 13.338 ***

1 (4 &) 563 557 578 542
g7 (7.10)  (2.69) (5.19)  (2.95)
g Loty 11.671 *** 3.558

RS A G 9] 556 553 576 541
g7 (21.94) (16.64) (13.72) (26.99) (20.14)
S O 5.012 * 30.548 *#*

31 1:P<0.05 » **:P<0.01 » ***:P<0.001 -



2 A3THER) = 8

ENN § A 8278 L

374 AR

z E% = E B
7 + &3+ 7 & &3+

fo g $BFr X (L ¥K) 563 558 1121 578 542 1120
7 - A X (36.41) (30.82) (33.63) (33.22)  (31.73) (32.50)
2 /& 2y (43.87) (58.96) (51.38) (48.62)  (58.49) (53.39)
HEN O 31.898 *# 19.243 ***

fo § 457 (L ) 562 558 1120 577 541 1118
FiE- A X (17.44) (19.35) (18.39) (16.29)  (13.12) (14.76)
F o /E xRy (73.13) (74.91) (74.02) (77.64)  (81.89) (79.70)
HENS O 5.719 3.110

fod BETFIE (L &) 562558 1120 578 539 1117
7 iE- A X (37.72) (32.44) (35.09) (33.91)  (30.61) (32.32)
g /5 = 4mg (42.53) (54.30) (48.39) (45.85)  (53.62) (49.60)
RS 17.388 *+ 7.418 *

4R R (X ) 563 558 1121 578 542 1120
FiE- A X (32.33) (34.41) (33.36) (28.72)  (29.70) (29.20)
G x/E R Ry (40.14) (40.32) (40.23) (24.91)  (27.68) (26.25)
RN e 0.910 1.787

$ 45 B ReE RIR(4 &) 563 558 1121 578 541 1119
FiE- A X (32.33) (36.02) (34.17) (28.20)  (27.73) (27.97)
7R /R R0y (25.04) (28.14) (26.58) (22.66)  (27.91) (25.20)
RS 5.416 4.435

¥R IR(R &K 562 558 1120 576 541 1117
FiE- A X (49.82) (45.16) (47.50) (43.58)  (38.08) (40.91)
7R /R R0y (32.92) (37.81) (35.36) (34.03)  (44.92) (39.30)
g Lty 3.187 14.575 #*

31 1:P<0.05 » **:P<0.01 » ***:P<0.001 -



FSATHEBL 2 2 BB E 2L oA FaE A F A
3 B AL
- 7 B
7 + &3 g - £

& 5] FISLR (X ) 563 558 1121 578 542 1120
4 - A % (32.15) (29.21) (30.69) (33.74)  (31.37) (32.59)
s R /E g (37.66) (50.00) (43.80) (47.92)  (57.75) (52.68)
NS 20.258 *** 16.156 ***

1 RAF R ALHR(A ) 563 557 1120 578 542 1120
4 - A % (32.15) (25.67) (28.93) (31.14)  (28.60) (29.91)
R YERS (49.73) (64.27) (56.96) (54.84)  (64.39) (59.46)
HENS O 27.354 #** 17.802 ***

o7 B E( ) 562557 1119 577 541 1118
4 -5 (8.11) (23.52) (25.83) (30.33)  (32.16) (31.22)
s R /E 2Ry (45.91) (59.43)  (52.64) (41.94)  (45.47) (43.65)
RS 22.34] #* 4.294

P ERPRPF BB AR (X #K0) 563 558 1121 578 542 1120
4 -5 A (16.70) (12.90) (14.81) (17.47)  (12.92) (15.27)
s R /E g (77.26) (85.84) (81.53) (78.72)  (84.32) (81.43)
RN e 22793 *+ 5.797

7 EHFECBRR( K 563 558 1121 577 541 1118
4 - s (23.98) (21.86) (22.93) (29.64)  (23.84) (26.83)
f R /E g (59.15) (66.49) (62.80) (61.87)  (70.06) (65.83)
RS 8.312 * 8.509 *

Mo B R4 ) 559 558 1117 575 542 1117
4 - A = (24.15) (22.40) (23.28) (29.57)  (28.04) (28.83)
o F R /E 2y (55.46) (62.54) (59.00) (54.61)  (60.70) (57.56)
g Lty 7.237 * 6.308 *

31 1:P<0.05 » **:P<0.01 » ***:P<0.001 -



ZOAMPRB ] = ~ 2 EBF 2 IR A F AL

ATHRAR )

z E% = E %
3 - &3t 3 - &3t

3 F M s AR (A ) 563 556 1119 578 542 1120
F - B X (1137) (7.19) (9.29)  (7.09) (3.14) (5.18)
s R /E A4y 231) (1.80) (2.06)  (1.73) (0.55) (1.16)
HEN O 6.289 * 12.580 **

7 F A RE (4 &) 563 558 1121 578 542 1120
4 - B = (28.06) (27.06) (27.56) (37.54) (39.48) (38.48)
s R /E A4y (12.08) (7.71) (9.90) (22.84) (14.76) (18.93)
HENS O 6.807 * 12.388 **

FEFELT Y B K 562 557 1119 578 542 1120
F - B X (14.23) (10.05) (12.15)  (10.03)  (7.75) (8.93)
e f A /E X g (5.52) (2.51) (4.02)  (5.19) (2.40) (3.84)
RS 12.017 ** 8.141 *

* F R RREF LB (X ) 563 558 1121 577 542 1119
F - B X (23.62) (20.61) (22.12)  (23.22) (19.74) (21.54)
CERYERS LY (8.88) (5.02) (6.96) (11.79)  (6.09) (9.03)
RN e 9.030 * 15.012 *#*

3 FEE (LK) 563 558 1121 578 542 1120
F - B X (38.01) (47.49) (42.73)  (45.16) (50.74) (47.86)
RIS 1N (31.08) (26.34) (28.72)  (37.20) (35.61) (36.43)
RS 10.293 ** 4.854

# 3 f B (A #K) 562 557 1119 578 542 1120
F - @ X (29.36) (26.57) (27.97) (25.61) (21.96) (23.84)
YR 1N (1423)  (8.98) (11.62)  (9.17) (5.54) (7.41)
RN e 10.434 * 8.708 *

# F T (A &) 563 558 1121 578 541 1119
F - B X (36.23) (38.53) (37.38) (38.41) (28.47) (33.60)
CERYERS LY (20.78) (12.72) (16.77)  (11.42)  (9.24) (10.37)
g Loty 13.273 ** 16.823 ***

31 1:P<0.05 » **:P<0.01 » ***:P<0.001 -



2THABRL 2 2 EBE R 2 REGFROE A0 G A

374 AR

B *E &

g - &3t 3 - &3t

§ g %% (L &) 562 558 1120 578 542 1120
FiE- A X (23.84) (21.68) (22.77) (19.20) (23.80) (21.43)
g R /E 2wy (3.38) (3.94) (3.66) (2.25) (2.58) (2.41)
HEN O 0.912 3.780

§ e (L &) 563 557 1120 578 542 1120
4 - B X (10.48) (8.44) (9.46) (2.60) (2.21) (2.41)
SR YER 1Y (3.02) (1.44) (2.23) (0.52) (0.18) (0.36)
gLty 4.794 1.060

i fr v 3 4 kv 3 (A 3K) 562 556 1118 577 542 1119
F - A (38.26) (41.73) (39.98) (46.62) (53.87) (50.13)
g2 /&2y (16.73) (20.68) (18.69) (21.49) (22.69) (22.07)
RS 6.915 * 10.309 **

o v 5 44k 2 (4 #K) 563 558 1121 577 542 1119
F - A (31.97) (31.36) (31.67) (32.06) (28.78) (30.47)
g2 /E 2y (13.14) (10.22) (11.69) (10.57) (7.01) (8.85)
RN e 2.709 7.148 *

e B H B < AL i) 563 558 1121 573 540 1113
F - A (17.94) (13.62) (15.79) (20.07) (22.41) (21.20)
g2 /&2,y (4.09) (2.69) (3.39) (1.92) (2.59) (2.25)
Y 6.058 * 1.606

X 1:P<0.05 » **:P<0.01 » ***:P<0.001 -



2 8P = ~ &

BB d s gk R A F A G A

ATHRAR L

B *E &

3 - &3t 3 - &3t

TR RAR A &K 561 557 1118 578 542 1120
4 - B = (24.06) (20.65) (22.36) (23.01) (19.00) (21.07)
ERYERES 1 (64.88) (72.35) (68.60) (66.09) (74.72) (70.27)
HEN O 8.807 * 12.011 **

P EREBRT S (LK) 562 558 1120 578 542 1120
4 - B (25.62) (23.66) (24.64) (30.45) (26.01) (28.30)
ERYERS 1 (43.42) (47.85) (45.63) (48.62) (56.09) (52.23)
HENS O 2218 6.260 *

§ 45 - TR H (A #K) 562 558 1120 578 541 1119
4 - = (29.36) (23.84) (26.61) (36.68) (35.12) (35.92)
s R /E 2Ry (44.13) (51.97) (48.04) (34.43) (38.08) (36.19)
RS 7.391 * 1.655

FHEFRE A E T (A ) 561 557 1118 578 540 1118
4 iB- = (31.55) (24.78) (28.18) (36.85) (39.26) (38.01)
s R /E g (40.46) (49.37) (44.90) (33.39) (29.26) (31.40)
RN e 9.966 ** 2215

§ 45 TE (X &) 561 557 1118 577 542 1119
4 iB- 5= (29.23) (26.39) (27.82) (35.53) (33.39) (34.50)
f R /E g (19.07) (13.11) (16.10) (25.48) (22.69) (24.13)
RS 10.860 ** 2.899

TS E( &) 561 556 1117 573 541 1114
4 iB- % (30.66) (28.06) (29.36) (38.92) (43.25) (41.02)
YR 1N (18.89) (12.59) (15.76) (13.79) (13.86) (13.82)
g Loty 11.726 ** 2.475

§EEF F (X K 561 557 1118 577 542 1119
4 - = (18.36) (19.75) (19.05) (24.96) (33.03) (28.87)
ERYERS L (11.23) (6.46) (8.86) (13.86) (13.10) (13.49)
g Lty 7.897 * 9.012 *

FHEFREIEIALT B(A &) 562 557 1119 576 542 1118
4 iB- A= (26.33) (24.06) (25.20) (29.17) (27.31) (28.26)
ERYERSE 1N (15.12) (11.67) (13.40) (13.19) (9.41) (11.36)
g Lty 4.564 5.337

31 1:P<0.05 » **:P<0.01 » ***:P<0.001 -



LOXAERZ ~ A EBEF 2 <

R A A G 4

Frr BB

z E % = E &
7 * &3t 7 + &3

B EPPEP LN R K 562 558 1120 578 542 1120
drig - BREL (14.41) (13.98) (14.20) (30.10) (35.61) (32.77)
* R AT R e (9.61) (8.60) (9.11) (18.51) (9.78) (14.29)
g Loty 0.424 18.072 **x

Grig 3 R s (4 BK) 562 558 1120 578 542 1120
drig - BREL (20.82) (21.68) (21.25) (23.36) (19.93) (21.70)
xR deig /A (58.72) (64.87) (61.79) (67.99) (71.96) (69.91)
g Loty 0.954 ** 2.240

i g 3w Fa S # (A &) 559 557 1116 578 541 1119
Foig - 2hak (13.77) (14.90) (14.34) (11.94) (12.57) (12.24)
xR Teig R A (63.69) (68.76) (66.22) (74.74) (79.48) (77.03)
g Lot gy’ 6.853 * 8.431 *

frig PR A — 42374 1K) 559 557 1116 576 542 1118
i - BhEk (16.28) (18.31) (17.29) (18.58) (17.90) (18.25)
* R Tvig /R AT (57.60) (65.17) (61.38) (66.67) (73.62) (70.04)
g Lot gy 15.330 *++ 11.365 **

TEFTERY AR ) 562 558 1120 577 542 1119
frig - BREk (13.35) (12.90) (13.13) (15.94) (13.84) (14.92)
* R A /R AT (74.38) (78.67) (76.52) (75.56) (76.01) (75.78)

Y

4.734

1.663

X 1:P<0.05 » **:P<0.01 » ***:P<0.001 -



2 1037 R = ~~ &

EBnHEF2 ﬁigf\fyl'%z\mﬂ&‘

AT A

ﬂ—fr ™ /T/J W J

B *E &
3 - &3t 3 - &3t

* :rrrrﬂfﬁ;ﬁ.:é(& #) 563 558 1121 577 542 1119
oA (73.53) (79.57) (76.54) (56.85) (61.62) (59.16)
%% = (20.07) (16.13) (18.11) (32.06) (30.81) (31.46)
7 Lol y? 6.033 * 4.923

Fjpe- A4 563 558 1121 577 540 1117
FooA (74.78) (79.03) (76.90) (66.90) (67.78) (67.32)
%% =x (20.07) (16.49) (18.29) (26.17) (25.74) (25.96)
7 Lol y? 2.889 0.136

IR E N IEE ) 563 558 1121 577 539 1116
Fo-A=x (70.52) (72.58) (71.54) (67.59) (66.79) (67.20)
RN (19.72) (21.68) (20.70) (25.82) (26.35) (26.08)
LR 6.569 * 0.088

£E2Z A (A &K 562 558 1120 576 542 1118
7oA =x (80.78) (83.69) (82.23) (82.81) (76.75) (79.87)
RN (13.52) (13.44) (13.48) (11.28) (18.63) (14.85)
g Loty 5.509 12.324 **
2 3 A TRpE (DR P-g (4 ) 562 558 1120 577 542 1119
’ﬁ -3 =X (78.29) (77.96) (78.13) (67.94) (65.13) (66.58)
RN (15.12) (15.95) (15.54) (26.69) (30.26) (28.42)
LR 0.233 1.906

- BAEERET(L K 562 558 1120 577 542 1119
F-A=x (66.73) (52.15) (59.46) (63.08) (49.45) (56.48)
fad =% (24.91) (36.74) (30.80) (29.12) (40.59) (34.67)
HEE S 24.89] *+* 21.296 **+

31 1:P<0.05 » **:P<0.01 » ***:P<0.001 -

10



FUMSHR)Z 2 EoF I 2 M EERP LD AFAG A
3TV ELR]
B *E &
7 + &3+ 7 L &3t

PR ATP 4 (A &) 562 558 1120 578 542 1120
oA=& (74.02) (71.86) (72.95) (78.55) (78.23) (78.39)
%% = (19.57) (22.58) (21.07) (17.99) (18.63) (18.30)
7 Lol y? 1.719 0.155

jagkw] A % (R #) 563 558 1121 578 542 1120
oA (70.69) (59.86) (65.30) (55.54) (42.80) (49.38)
%% =x (24.16) (31.54) (27.83) (38.58) (47.79) (43.04)
RN S 15.390 *** 19.275 *

F EACE 2 P A 3R(4 ) 561 556 1117 578 542 1120
FoAX (67.38) (59.35) (63.38) (68.86) (67.71) (68.30)
s =% (19.79) (24.64) (22.20) (21.63) (25.83) (23.66)
LR 7.753 * 5.398

F£E AL R K 563 558 1121 578 541 1119
N (73.71) (69.89) (71.81) (66.26) (68.76) (67.47)
i =% (20.78) (24.55) (22.66) (28.89) (25.88) (27.44)
LR O 2.329 1.330

Yo B ARG (A ) 563 558 1121 578 542 1120
N (79.40) (65.05) (72.26) (73.18) (57.20) (65.45)
i =% (17.58) (26.34) (21.94) (21.45) (34.87) (27.95)
RN 32.84( *x* 31.740 ***

faol PR AR E EiR(R ) 563 558 1121 578 542 1120
FoA& (75.13) (62.90) (69.05) (72.84) (53.69) (63.57)
i =% (20.25) (30.29) (25.25) (22.66) (37.45) (29.82)
g Lty 19.615 *** 44.687 *++

PIREIFER (L&) 563 558 1121 577 542 1119
o8& (50.80) (43.37) (47.10) (49.74) (40.22) (45.13)
i % = (35.88) (35.30) (35.59) (34.84) (41.88) (38.25)
g Loty 13.687 ** 10.267 **

31 1:P<0.05 » **:P<0.01 » ***:P<0.001 o

11



2RFABR)LZ 2 EEEIZ AW ELA AL G A
Fr7 BAR )
B *E &
7 + &3+ 7 + &3+

B L F (X ) 563 557 1120 578 542 1120
oA (64.83) (68.40) (66.61) (57.61) (53.69) (55.71)
%= (30.20) (27.47) (28.84) (37.37) (44.10) (40.63)
gLty 1.696 9.891 **

&R (A 3K 563 557 1120 578 542 1120
FooAX (47.60) (42.37) (45.00) (34.60) (26.75) (30.80)
%% =x (41.74) (48.47) (45.09) (56.57) (59.96) (58.21)
gLt gy’ 5.155 11.214 **

(4 ) 563 557 1120 578 542 1120
FoA=x (79.40) (68.58)  (74.02) (83.39) (71.22) (77.50)
%= (18.83) (27.29) (23.04) (14.36) (23.25) (18.66)
7 Lot gyl 18.388 *#* 25.054 *#%

£1E83E(L &K 563 557 1120 577 541 1118
oA (47.25) (49.91) (48.57) (44.89) (46.77) (45.80)
%= (39.25) (43.63) (41.43) (44.54) (44.92) (44.72)
LR O 15.562 *** 1.720

£ 2 a(4 &) 563 557 1120 578 542 1120
FoA=x (61.46) (53.14) (57.32) (76.99) (66.61) (71.96)
%= (29.31) (36.45) (32.86) (19.55) (28.41) (23.84)
7 Lot gyl 8.113 * 14.95]1 **x*

PEF 45 (A ) 561 557 1118 577 542 1119
oA (53.48) (59.78) (56.62) (57.71) (58.49) (58.09)
%= (34.94) (33.03) (33.99) (33.97) (35.79) (34.85)
LR 8.038 * 2.971

EE82 ERF (X&) 563 554 1117 578 542 1120
Fooax (60.39) (65.88) (63.12) (47.06) (43.36) (45.27)
%= (32.33) (31.05) (31.69) (42.91) (48.15) (45.45)
g Loty 11.028 ** 3.263

31 1:P<0.05 » **:P<0.01 » ***:P<0.001 -
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